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1 PE3VJIBTATBI OCBOEHHMA JUCHUMIIJIMHBI, IEPEYEHb OLEHOYHbIX
CPEJACTB U KPUTEPUU OLNEHUBAHMUSA

1.1 Pe3ynbTaThl OCBOCHUS AUCITUTLTHBI
Pe3ynbTaThl OCBOCHUS TUCIMILIMHBI TIPEICTABIICHBI B TabmIie 1.

Tabmuna 1 — [Inanupyembie pe3ynbTaThl OOYUYCHHS M0 JUCIUILINHE, COOTHECCHHBIE C KOM-

NEeTCHIUAMU

Kon u HaumeHnoBanue
KOMIIETEHIINHU
[TIK-11: Cnocoben ucnonb3o- | 3nams: 6a30Bble MpaBuUia I'paMMaTUKH, 0a30BbIE HOPMBI YIIO-

P€3y.HbTaTBI 06yquH;1, COOTHCCCHHBIC C KOMIICTCHIIUAMMU

BaTh AHIJIMMCKUN SI3BIK B | TPEOJCHUS JICKCHKH IO COIMAIBHOCTH: (DOPMBI CTPAIATEIHLHOTO
MUCbMEHHOW M ycTHO# (op- | 3amora, mpuyactust | u |, ux dbopmbl u QyHKUIMH, MOJANTbHBIE
Max Ui Tepefadd cooOIle- | TIarojbl U UX SKBUBAJICHTHI, IPUHIIUIBI COTJIACOBAHUS BPEMEH,
HUII B TpodeccnoHanbHOH | ycioBHBIE npeanoxenus |11-x Tumos.

JeSITeTbHOCTH Ymems: B 0065macT ayqupOBaHMS: BOCIPUHUMATH PEYb TUKTOPA
Ha CIIyX, BBLACIATh B HUX 3HAYMMYIO 3alpalirBaeMyro UHQOp-
MaIlMi0; B OOJIACTH 4YTEHHS: NMOHUMAaTh OCHOBHOE COJICPYKAHHE
HAYYHO-TIOMYJISIPHBIX ¥ TEKCTOB IO CIICIUAILHOCTH, & TAKKE JIe-
JIOBBIC MHChMA; BBIIEIATH 3HAYMMYHO/3allpalIiBacMyr0 UHQOP-
MAIMI0 M3 TEKCTOB MPO(PECCHOHATIBHON HANpaBJICHHOCTH; B 00-
JIaCTU TOBOPEHUS: JIeJaTh COOOIICHUs M BEICTPAaMBAaTh MOHOJIOT-
OIMCaHKe, MOHOJIOT-TTIOBECTBOBAHUE, JUAJIOr-paccipoc; B ooOma-
CTH TIMCHhMa: 3aIOJHATh (POPMYISpbI, OJJAaHKH, PEMOHTHBIE BEJIO-
MOCTH, COCTaBJICHHE JICJOBBIX IHceM, oTnpasienue E- mail co-
oOmienus, (akca.

Brademy: cTparerusiMu BOCTIpUSATHS, aHAIIN3a, CO3JJaHUS YCTHBIX
U TIHCbMEHHBIX TEKCTOB IO CIENHATbHOCTH, a TaKXKe Pa3HbIX
JKaHPOB, TPUEMaMU CaMOCTOSITEIbHONH PabOThl C TEXHUYECKUMU
TEeKCTaMH, C MCIOJb30BaHUEM CIPABOYHON M y4eOHOM JHuTepa-

TYPBL.

1.2 K o11eHOYHBIM Cpe/ICTBaM TEKYIIET0 KOHTPOJIS YCIIEBAEMOCTH OTHOCSTCS:

— TECTOBBIC 3aJJaHKS OTKPBITOTO M 3aKPBITOTO THITOB C KJIFOYaMHU MTPABHIIBHBIX OTBETOB;

— THTIOBBIC 3aJaHUs TI0 KOHTPOJBHBIM padboTaMm (s OoOydJaromuxcsi Mo 3a04HOi (opme
o0OyueHus).

[IpoMexyTouHas aTTecTalvs MO OKOHYAHHWIO TEPBOTO CEMeCTpa M3YUYCHHs TUCIUILTAHBI
MPOBOAMTCA B (JOpME 3aueTa, KOTOPBIA BBICTABISIETCS 1O Pe3ybTaTaM MPOXOKIECHUS BCEX BUIOB
TEKYIIETO KOHTPOJIST yCIIEBAEMOCTH.

[TpoMexyTouHass aTTecTalds MO OKOHYAHHIO BTOPOTO CEMECTpa W3YUCHHS TUCIUILTAHBI
npoBoANTCS B opMe 3a4eTa C OIEHKOM, KOTOPBIA TaK)Ke BBICTABISETCS MO PE3yJbTaTaM MPOXO0K-

ACHUSA BCCX BUAOB TCKYILCTO KOHTPOJIA YCIICBACMOCTH.
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ITpu HE0OXOAMMOCTH ISt IPOBEACHUS IIPOMEKYTOUHON aTTECTAIIMA MOTYT OBITh HCIIOJIB30-

BaHbI TCCTOBLIC 3aIdHUA 3aKPBITOI'O U OTKPLITOI'O TUIIOB.

1.3 Kputepuu oLieHKH pe3yabTaTOB OCBOCHUSI TUCITUILUINHBI

VHHBepcaanaﬂ CUCTEMA OLICHUMBAaHUA PE3YIbTAaTOB O6y‘IeHI/I5[ BKJIFOYAeT B ce0s CUCTEMBI

OLICHOK: 1) «OTJINYHO», «XOPOIIO», «YAOBIETBOPUTEIBHOY», «HEYAOBIETBOPUTEIBHOY; 2) «3auTe-

HOY», «He 3auTeHO»; 3) 100 — OamTbHYIO/IPOLEHTHYIO CUCTEMY U MPABHJIO NEPEBOJIA OIICHOK B IIs-

THOAUIbHYIO cUCTEMY (Tabuia 2).

Tabnuma 2 — Cuctema OIeHOK M KPUTEPHUH BHICTABIICHHSI OLICHKH

TOPBIC H3 KOTOPBIX
MOXET CBs3bIBATh

MEXTy co00it)

Cucrema 2 3 4 5
OLICHOK 0-40% 41-60% 61-80 % 81-100 %
«Hey/10BJIeTBOPHU- «Y/0BJIETBOPHU- «XOpOo110» «OTJIMYHO»
TeJbHO» TeJbHO»
Kputepnit «He 324TEHO» «324TEHO
1 Cucremuocrs | O0nagaer  wactuu- | Obnagaer  MmuHH- | OOnagaer Habo- | OOnagaer MOJHO-
M TOJHOTA 3HAa- | HBIMA WM Pa3po3HEH- | MaJbHBIM HAa0OpOM | POM 3HAHWMU, JO- | TOW 3HAHUK U CH-
HHUii B OTHOIIe- | HEIMH 3HAHUSIMY, | 3HaHUH, HEo0XO- | CTATOYHBIM ISl | CTEMHBIM B3[JIZIOM
HUM W3y4YaeMbIX | KOTOPbIE HE MOXET | IUMBIM JJIs CH- | CHCTEMHOTO Ha U3y4aeMblii
00bEeKTOB HAay4YHO- KOPPEKTHO | CTEMHOTO B3IJISAa | B3MJISAa Ha H3Y- | OOBEKT
CBS3BIBATH  MEXKIY | Ha M3y4aeMbIil | YaeMbIi OOBEKT
€000t (TOJIBKO HEKO- | 0OBEKT

MMpOaHAIM3UPOBATH
TOJBKO HCKOTOPLIC
n3 HUMCHOINUXCA Y

HEro CBEIEHUHI

MPEAOCTABICHHOM
WHPOPMAIIH,

BOBJICKaeT B WC-
Cle0BaHNE HO-
BbIE pEJICBaHTHBIC

3aJa4c JaHHBIC

2 Pabdora ¢ un- | He B cocrosamu | Moxker HaWTtH He- | Moxer HaWTH, | MOXeT HaWTH, CH-
(popmanmeii HaXOIUTh  HEOOXO- | OOXOJMMYIO  WH- | HHTEPIIPETHPO- CTeMaTU3HpPOBAaTh
mumyto  uHpOpMa- | popManmio B paM- | BaTb W CHUCTeMa- | HEOOXOAUMYIO WH-
LU0, MO0 B COCTOS- | KaX TIIOCTAaBIEHHOW | TU3UpOBaTh  He- | (hopMaIuio, a Tak-
HUU HaxoOIUTh OT- | 33Ja4u 00XOJIUMYI0 HWH- | )€ BBISBUTH HOBBIC,
JeNbHBIE (parMeHThI (dhopmarmro B | IONOJIHUTEIbHbBIE
WHPOPMALIUK B paM- paMKax TIOCTaB- | HCTOYHHUKHU WH-
Kax  IOCTaBJICHHOU JIEHHOU 3a7auu dbopmaruu B pam-
3a1a4u KaxX TIOCTaBJICHHOU
3a/1a4u
3 HayuHoe He wmoxer pnenats | B cocrosHuu ocy- | B coctosuuu | B cocrosiHuu ocy-
OCMBICJIEHUE HayYHO KOPPEKTHBIX | MECTBIATh HAYYHO | OCYIIECTBIATH IIECTBIATh CHCTe-
H3y4aeMoro siB- | BBIBOJOB M3 HMEIO- | KOPPEKTHBI  aHa- | CHCTEMATUYECKUN | MaTUYECKUI 51
JIEHUsI, MPoIec- | IIUXCS y HEro CBe- | JIU3 MPENOCTaBIEH- | U  HAy4yHO KOp- | HAy4yHO-
ca, 00beKTa JICHUH, B COCTOSIHUU | HOW MH(OpMAIUH PEKTHBIA aHANW3 | KOPPEKTHBIA  aHa-

JU3 MPenoCTaBIICH-
HOW wuH(popMmanuy,
BOBJIEKAET B HC-
CIIEZIOBAaHHE HOBBIE
peJIeBaHTHBIC

CTaBJICHHOH 3aJa4c

II10-

JaHHBIC, IIpcajiara-
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Cucrema 2 3 4 5
OIIEHOK 0-40% 41-60% 61-80 % 81-100 %
«HEeyJ10BJIETBOPH- «yAOBJIETBOPH- «XOpOII0» «OTJIUIHO»
TEeJLHO» TeJIbHOY
Kpurepnii «He 32aYTEeHO0» «32YTEHO»

€T HOBBIE PaKypCHI
IIOCTaBJICHHOM 3a-

Ja4un

4 OcBoeHne B cocrostnum pemats | B coctosHum pe- | B coctosHuu pe- | He Tonbko Bmageer
CTAHJAPTHBIX TONBKO ()parMeHTHl | aTh  TOCTABJICH- | IaTh IOCTABJICH- | aJITOPUTMOM M TIO-
aJITOPUTMOB [IOCTaBJICHHON 3afla- | Hble 3aJa4d B CO- | HbIE 33/1a4d B CO- | HUIMAeT €ro OCHO-
pelieHusi nNpo- YH B COOTBETCTBHH C | OTBETCTBHHM C 3a- | OTBETCTBUHU C 3a- | BbL, HO W Ipejiara-
(heccMOHANBHBIX | 3aJaHHBIM aJNTOPUT- | JAHHBIM AJITOPUT- | JAHHBIM QJITO- | €T HOBBIC PEUICHUS
3aaa4 MOM, HE OCBOHJI | MOM pPHUTMOM, MOHUMa- | B paMKaX ITOCTaB-

MPEUIOKEHHBIH  aJl- €T OCHOBBI TpeA- | JICHHOU 3ajauu

TOPUTM, JOIyCKaeT JI0)KEHHOTO  aJIro-

ommnoOKH puT™Ma

1.4 OueHnBaHME TECTOBBIX 33/1aHUI 3aKPBITOI'O THIIA OCYIIECTBIISAETCS 110 CUCTEME 3aUTEHO/
He 3a4TeHO («3auTeHo» — 41-100% npaBUIbHBIX OTBETOB; «HE 3a4TeHO» — MeHee 40 % mpaBUIIbHBIX
OTBETOB) WM MATHOAUIBHON cUCTEME (OLIEHKAa «HEYAOBIETBOPUTENIbHO» - MeHee 40 % mpaBuiib-
HBIX OTBETOB; OLIEHKA «yJOBJIETBOPUTENIBbHO» - OT 41 10 60 % mpaBUIIBHBIX OTBETOB; OLIEHKA «XO-
pomo» - oT 61 1o 80% mHpaBUIIBHBIX OTBETOB; OLIEHKA «OTIMYHO» - OT 81 10 100 % nmpaBuiIbHBIX
OTBETOB).

TecTroBble 3aaHMsi OTKPHITOIO THUIIA OLEHUBAIOTCS IO CUCTEME «3aYTEHO/HE 3aYTEHOM.

OneHuBaeTcsi BEpHOCTh OTBETA MO CYLIECTBY BOIIPOCa.

2 OLIEHOYHBIE CPEJACTBA IS TEKVIIE# W TPOMEXYTOYHOI
ATTECTALIUM

ITK-11: CnocobeH ucnoap30BaTh AaHTITHMUCKHNA SI3BIK B TMICBMEHHOM M YCTHOW (hopMax aiist miepe-

Jadyn COO6I.I1€HPII>1 B HpO(beCCHOHaHBHOP'I JCATCIbHOCTH.
TecToBbIE 3aJJaHUuA 3aKPbITOI0 THIIA

1. Read the text and choose the correct answer.

The simplest possible transmitter consists of a radio-frequency oscillator whose purpose is
to produce radio frequency signals of a desired frequency; a transmitting antenna to radiate the sig-
nals, a battery or power source to supply electrical energy; and a key to interrupt the radiation of the
radio waves and thus convey intelligence. This type of transmission is called interrupted continuous
wave or radio telegraph transmission.

1. The transmitting antenna is used to ...
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a. interrupt the radiation

b. supply electrical energy
c. convey the intelligence

d. radiate the signals

2. The radio wave carries ...
a. voice

b. power Supply

c. alternating current

d. audio intelligence
Ortser: 1-d; 2-d

2. Read the text and choose the correct answer.

The battery may be eliminated by using an electronic power supply. This power supply
changes the alternating current obtained from the power line to direct current. Furthermore, if com-
munication with far-distant places is desired, the output of the oscillator is usually strengthened by
passing it through a radio-frequency amplifier before the signal reaches the antenna.

1. The battery may be eliminated by using ...

a. direct current

b. Oscillator

c. amplifier

d. electronic power supply

2. An electric power supply changes ...

a. alternating current to direct current

b. audio frequency signals

c. audio intelligence

d. electrical signals

Otser: 1-d; 2-a

3. Read the text and choose the correct answer.

This type of transmission works well or the broadcasting of code signals, but it is not used to
transmit voice signals or music. When the sounds of voice or music are converted into electrical
signals by means of a microphone, these electrical waves vibrate at audio frequencies. Audio-
frequency signals cannot be efficiently radiated by themselves from an antenna to a receiver that is
located at some distance from the transmitter. To transmit these audio-frequency signals, therefore,

it is first necessary to impress them upon a radio wave. This radio wave is then radiated from the
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antenna and thus carries the audio intelligence or signal with it. For this reason, the radio wave is
also known as a carrier wave. Radio waves are actually electromagnetic waves which consist of
electric energy in electrostatic and magnetic states. Radio waves travel at a speed of light and their
frequency is the same as that of the alternating current which produced them.

1. The radio wave is radiated from...

a. transformer

b. oscillator

C. battery

d. antenna

2. To transmit audio frequency signals it is necessary ...

a. to use an oscillator

b. to use an amplifier

c. to impress them upon radio wave

d. to change their frequency

Otser: 1-d; 2-Cc

4. Read the text and choose the correct answer.

In recent years the transistor — an entirely new type of electron device — replaces the bulky
electron tubes in many applications. Transistors are far smaller than tubes, have no filament and
hence need no heating power. They are mechanically rugged, have practically unlimited life, and
can do some jobs better than electron tubes. In contrast to electron tubes, which utilize the flow of
free electrons through a vacuum, the operation of transistors is based on the movement of charge
carriers through a solid substance, a semiconductor. Transistors are only one of the family of semi-
conductors; many other semiconductors applications are becoming increasingly popular and new
ones are constantly being discovered.

1. Electron tubes utilize the flow of free electrons through ...

a. germanium

b. gas

c. crystal

d. vacuum

2. The operation of transistors is based on the movement of charge carriers through ...

a. metallic conductor

b. diamond structure

c. semiconductor

d. filament
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Ortser: 1-d; 2-C

5. Read the text and choose the correct answer.

It is known that materials are classed as semiconductors if their electrical conductivity is in-
termediate between metallic conductors, which have a large number of free electrons available as
charge carriers, and non-metallic insulators, which have practically no free electrons available to
conduct current. The two semi-conductors most frequently used in electronics and transistor manu-
facture are germanium and silicon. Both elements have the same crystal structure and similar char-
acteristics.

1. Metallic conductors have practically ...

a. same free electrons

b. some free electrons

c. no free electrons

d. many free electrons

2. Materials are classed as semiconductors if their electrical conductivity is ... between the
metallic conductors and non-metallic insulators.

a. based

b. intermediate

C. associated

d. available

Otser: 1-d; 2-b

6. Read the text and choose the correct answer.

When germanium is in crystalline form its atoms assume the typical diamond structure. In
this structure adjacent germanium atoms share their valence electrons in a strong bond, so that ef-
fectively four orbital electron pairs are associated with each nucleus. These electron pairs are
termed covalent bonds and they are bound so strongly to each other and to the nucleus that no free
electrons are available to conduct a current through germanium.

1. When germanium has diamond structure its adjacent atoms share their ... in a strong
bond.

a. electron pairs

b. orbital electrons

c. valence electrons

d. free electrons

2. Orbital electron pairs ... very strongly to each other.
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a. are rugged
b. are based

c. are associated

d. are bound

Otser: 1-c; 2-d

7. Arrange the following words in pairs of synonyms:

1. hit a) use

2. employ b) different
3. produce C) understand
4. realize d) make up
5. various e) strike

Ortser: 1-e; 2-a; 3—d; 4-c; 5-b.

8. Arrange the following words in pairs of synonyms:

1. collect a) different
2. discover b) gather
3. attract C) increase
4. raise d) draw

5. various e) find

Oteer: 1-b; 2—e; 3—d; 4-c; 5-d.

9. Arrange the following words in pairs of synonyms.

1)consist (of)
2) house (in)
3) mount

4) obtain

5) attract away
6) allow

7) insert

8) vary

9) insure

10) employ

a) take off

b) put (in)

C) permit

d) provide

e) change

f) set up

g) receive

h) use

i) place (in)

J) be made up (of)

Oreet: 1-; 2-i; 3-f; 4-g; 5-a; 6-C; 7-b; 8-e; 9-d; 10-h
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(What..

ductor

10. Arrange the following words in pairs.

1) essential a) broad

2) afew b) velocity

3) anode C) part

4) function d) action

5) rate e) ray

6) beam f) plate

7) component @) main

8) wide h) change

9) hence 1) consquently
10) variation J) several

Orteer: 1-g; 2-j; 3-f; 4-d; 5-b; 6-e; 7-c; 8-a; 9-i; 10-h

TecToBble 3aJaHUA OTKPLITOI'O THIIA

11. Edison investigated the causes of failure of incandescent lamp filaments (What...?)
Otser: What did Edison investigate in 1883?

12. He placed a metal plate inside an evacuated bulb. (Where...?)

OtBer: Where did he place a metal plate?
13. He connected the plate is series with the galvanometer to the positive side of the battery.
.2)

OtBer: What did he connect with the galvanometer?

14. Edison discovered a current flow between the plate and the battery. (Where...?)

OTtBer: Where did Edison discover a current flow?

15. Use the Passive Voice. Such substances (to call) electric conductors

Ortser: are called

16. Use the Passive Voice. Electric current (to describe) as flow of electrons along a con-

Otser: is described
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17. Use the Passive Voice. The force that causes electrons to move (to call) causes electrons
to move

Ortser: is called

18. Use the Passive Voice. This force (to measure) in volts. It (to produce) by batteries or
electric generators.

Ortser: is measure; is produced

19. Use the Passive Voice. To make an electric current flow continuously, two conditions (to
need): an electromotive force and an electric circuit

Orteer: are needed

20. Some (BemiectBa) contain many free electrons

OTtBeT: substances

21. Such substances are called (mposoauukmu) oOf electricity

Oteer: conductors

22. When electrons flow in one direction only, the current is called a (mocrosiHHBI# TOK)

OTBert: direct current

23. When electrons flow first in one direction then in another direction in a periodic manner,
the current is called an (mepemeHHBIi TOK)

Ortset: alternating current

24. When a third electrode, called the grid, (momemaercss Mmexxay KarogoMm u aHoaom), the
tube is known as a triode

Orteer: is placed between cathode and anode

25. (ITpoxox anextponos) from the cathode to the plate is practically free

Otser: passage of electrons

26. The purpose of the grid (coctout B TOM, uT00BI KOHTpONIMpOBaTh) the flow of the plate
current

OrTBert: is to control
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27. In operation the plate is (monokuTeneH Mo OTHOIICHUIO K KaTOTy)

Otget: positive with respect to the cathode

28. A change in the grid voltage (MoxeT u3meHuTh aHOAHOE HanpsukeHue 10 100 pas)

Oreer: can change the plate voltage to 100 times

29. Triodes can fulfill (psx dyukuit B pagnocucremax): amplification, detection and they
can act as oscillators in oscillatory circuits

OtBer: a number of functions in radio systems

30. (Tpuox 6611 H306peTeH) by Lee De Forest in the first decade of last century.

OTtBer: triode was invented

31. Translate from Russian into English

- Pilot station, this is Zenit. Question: is pilotage compulsory in your port? Over.

- 36HI/IT, TOBOPHUT JIOIIMaHCKas CTaHLu:A. OrTBer: JIoIIMaHCKas IIPOBOJKa o0s13aTelpHA.
Bormpoc: CooOmruTe Bam KOOpIMHATHI.

- Pilot station, this is Zenit. Answer: my present position 2 miles westward from light house.
Over.

Otset: - Zenit, this is pilot station. Answer: Pilotage is compulsory. Question: what is

your present position? Over.

32. Translate from Russian into English.

- Zenit, this is Pilot station. Undrestood. Question: what’s your ETA Pilot station? Over.

- JloumaHckas cTaHuuMs, TOBOpUT 3eHMT. Ilpeamomaraemoe Bpemsi MNpUOBITUS Ha
JOIMAHCKYIO cTaHiuio 14:30 mo BceMMpHOMY BpEMEHH. ['OTOBBI MPUHATH JIOIIMAHA B 3TO BPEMSI.
ITpuem

Ortser: - Pilot station, this is Zenit. Answer: my ETA Pilot station 14: 30 UTC. Ready
to take pilot by that time

33. Translate from Russian into English.
- Vega, this is Liverpool port control. What’s your problem? Over.
- Jlugepnynnb TOPT KOHTPOJIb, MO pajgap He padoraeT. Mory M s BOWTH Ha IOJIOCY

JIBWXEeHUs cynoB? Most mo3unus 3 muim ot mbica A. [Ipuem.
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- Vega, this is Liverpool port control. Yes, it is clear for you to enter traffic lane at posi-
tion... You will meet crossing traffic at position off G. head. Over.
Ortser: - Liverpool port control, my radar is not working. Is it clear for me to enter

traffic lane. My position is 3 miles of A. head. Over.

34. Translate from Russian into English.

- Bcem cymam B okpectHoctu. ['oBoput Bera, Bera, Bera. Mou koopauHaThl —
[Mupora...Joarora...OnacHo ocTaBaThCs B O3TUX KoopauHaTax. Mue TpeOyerca Oykcup u
HeMeIeHHas noMob. [Ipuem.

- Vega, this is Zenit. I have located you on my radar 270°, distance 5 miles from me. Stand-
ing by on channel zero — six. Over.

Ortser: - All ships in vicinity. This is Vega, Vega, Vega. My position is Lat. ... Long. ...
It is dangerous to remain in my present position. | require a tug and immediate assistance.

Over.

35. Translate from Russian into English.

- Curnan 6enctBusi. ['oBoput Poccuiickoe MmoTopHOe cyano Anwmas. [loxap B MalmmHHOM
otnenenun. OroHb ObICTpO pacupocTpaHsiercs. EcTh omacHocTe B3peiBa. MuHe Tpebyercs
HeMeJIeHHas moMoulb. Poccuiickoe MoTopHoe cynHo Anma3s. [Ipuem.

- Mayday, Russian m/v Almaz. This is a salvage vessel Smelyi. | have received your
Mayday. Can you get the fire under control? Over.

- Mayday, Smelyi. This is m/v Almaz. No, | cannot get the fire under control. I am on fire in
the cargo. Please proceed to my position as soon as possible. Over.

Orteet: - Mayday, Mayday, Mayday. This is Russian motor-vessel Almaz. Mayday,
Motor-vessel Almaz. I am on fire in the engine-room.The fire is rapidly spreading. There is a

danger of explosion. | require immediate assistance. Mayday, Russian m/v Almaz. Over.

36. Translate from Russian into English.

- Mayday, Mayday, Mayday. This is Russian m/v Yantar (3 times). | lost person overboard
in position Lat ... Long ... All ship in this vicinity, keep sharp lookout and report to m/v Yantar,
channel one-two. Mayday, Russian m/v Yantar. Over.

-Curnan 6enctsus, Poccuiickoe cyaHo «SHTapb», rOBOPUT MOTOPHOE CYIAHO «BHKTOpUS».
[Tonyden curnan GenctBus. S nmpubyny B ykazaHHble KOOpAWHATHI Ha oMotk B 19:00 BcemupHOTO

BpeMmeHu. [Ipuem.
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OrBer: - Mayday, Russian m/v Yantar , this is m/v Victoria, VBEC. Received your

Mayday. | will arrive at the indicated position to your assistance at 19.00 UTC. Over.

37. Translate from Russian into English.

- Mayday, m/v Victoria. This is Helicopter — 1-5-6. | have located the person in position of
two miles to the North of your position. Can you proceed to this position to pick him up aboard
your ship?

- Curnan 6eactsus. Beproiser, ToBopuT MoTopHOE cynHO Bukropus. Mory npuObITh B Ba-
1M KOOPJAWHATHI M 3a0paTh uesoBeka ¢ kopadis. [lpuem.

OrBer: - Mayday, Helicopter, this is m/v Victoria. Yes, | can proceed to the position

and pick up the person aboard. Over.

38. Translate from Russian into English.

- CurHan aBapuiiHOM cuTyauuu. ['oBopuT mMotopHoe cyaHo Boctok. Mou kKoopauHaThl
HIMPOTA. .. 1oaroTa. ... C tpynom maneBpupyro. HyxHa nomous. ABapuiiHas CUTyalusi, MOTOPHOE
cyano Bocrok. [Ipuem.

- Pan-Pan, Pan-Pan, Pan-Pan. This is m/v Vostok, m/v Vostok, m/v Vostok. This is Port
Control, Port Control, Port Control. What problems do you have? Over.

Otget: - Pan-Pan, Pan-Pan, Pan-Pan. This is m/v Vostok, m/v Vostok, m/v Vostok. My
position is Lat ... Long ... I am manoeuwring with difficulty. I need help. Pan-Pan, m/v Vos-
tok. Over.

39. WIND WARNING W'LY STRONG BREEZE TO NEAR (1) mropMoBoii Berep
FORCE 6/7 WESTERN AND SOUTHERN BALTIC = (2) rpo30oBbi¢ JIUBHH BUIMMOCTb XOPOIIast
VERY GOOD. WX FISHER AND GERMAN BIGHT = (3) nepeMeHHbIi BeTep MO3IHEE OTO-
Boctounslii (4) meree 6 merpoB B cekynay AT FIRST GOOD VIS LATER FOG AT PLAC-
ES NEXT AT 1730 GMT

OrtBer:

(1) GALE

(2) THUNDERY SHOWERS GOOD

(3) VARIABLE LATER SOUTHEAST

(4) LESS 6 M/S

40. GENERAL SYNOPSIS AT MIDNIGHT HIGH HUMBER 1026 (1) nBuraercs
meieaHo Ha toro-soctok WITH LITTLE CHANGES STOP ATLANTIC= (2) o6macte HU3KOTO
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nmasienust 1012 munmubap STEADILY MOVING NORTH EXPECTED 250 MILES WEST
OF ROCKALL (3) Berep ceBepo-BocToUHBIN nepexoasmuii B nepemernbiii 3 DRIZZLE LATER
(4) BumuMoOCTh Xoporas rnepexosmas B ymepeanyro WITH FOG PATCHES

Otser:

(1) MOVING SLOWLY SE

(2) LOW 1012 MILLIBARS

(3) WIND NE BECOMING VARIABLE

(4) GOOD BECOMING MODERATE

3 THUHOBBIE 3AJAHUSA HA KOHTPOJIBHYIO PABOTY, KYPCOBYIO
PABOTY/KYPCOBOM ITPOEKT, PACYUETHO-TPA®UUYECKYIO PABOTY.

3.1 TunoBble 3aJaHNS HA KOHTPOJIbHbIEC PadOThl CTyJeHTAM 3a04HOI (opMbI 00yue-

HHUA

VY4eOHBIM IJIAHOM TPETYCMOTPEHBI JIBE€ KOHTPOJIbHBIE PabOTHI (IO OIHOW B KaXIOM ce-
MECTpe U3Y4EHUs AUCLUIIIUHBI).

KonTtponbHas paboTa npeincrabisieT OO0 NepedeHb 3alaHui 10 KOHTPOJII0 YCBOCHUS JIeK-
CUYECKOT0 ¥ TPaMMAaTUYECKOr0 MaTepHuala, IpeyCMOTPEHHOIO IPOIPaMMOM, OLIEHKHU YPOBHS Blla-
JICHUsI BUIAMH PEYEBOM JESITEIBHOCTH.

DOopMyYIUPOBKH JJIsi KOHTPOJIBHON pabOThl MpeACTaBICHbl B y4EOHO-METOJUYECKOM I10CO-

OMM 1O U3YYEHHIO TUCIMIUIMHBL. THIIOBBIE BapUaHTBl KOHTPOJIBHOM pabOoThI MPEICTABICHBI HUXKE.
KonTtpoabnas pabora Ne 1

1. Coenavime nucvbmeHHbIl NEPeBO0 MeKCMa HA PYCCKULL S3bIK.

The simplest combination of elements constituting an electron tube is the diode. It consists
of a cathode, which serves for emitting the electrons, and a plate or anode surrounding the cathode,
which acts as a collector of electrons. Both electrodes are enclosed in a highly evacuated envelope
of glass or metal. If the cathode is indirectly heated, there must be a beating spiral or heater. The
size of diode tubes varies from tiny metal tubes to large— sized rectifies. The plate is generally a
hollow metallic cylinder made of nickel, molybdenum graphite, tantalum or iron.

A basic law of electricity states that like charges repel each other and unlike charges attract
each other. Electrons emitted from the cathode of an electron tube are negative electric charges.
These charges may be either attracted to or repelled from the plate of a diode tube, depending on
whether the plate is positively or negatively carried.

By applying a potential difference (voltage) from a battery or other source between the plate

and cathode of a diode, an electric field is established within the tube, The lines of force of this
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field always extend from the negatively charged element to the positively charged element. Elec-
trons, being negative electric charges, follow the direction of the line$ of force in an electric field.

If the plate is made positive with respect to the cathode, electrons emitted by the cathode
will be attracted to the plate, then they deliver their electrical charges to the plate structure and mi-
grate as free electrons in the metal and through the battery back to the cathode to replenish its sup-
ply. This continual flow of electrons constitutes an electric current, passing through the plate circuit
of the tube.

2. Boinuwume 2naconst 6 cmpaoamenvHom 3anoee. Ilepeseoume smu cno8oghopmeoi.

3. Omeemvme Ha credyrouue 60NPocCyl.

1. What does the basic law of electricity state?
2. What does the diode consist of?

3. How does the Size of the diode tubes vary?

4. Where are the both electrodes enclosed?

4. Ilepeseoume cnedyroujue paouocpammol Ha PYCCKUll A3bIK.

XXXCQ SMALL GREEN PAINTED FISHING BOAT WITH TWO PERSONS ABOARD
MISSING SINCE 1100 GMT TODAY STOP SHOULD BE FISHING 10 MILES EAST FROM
UTKLIPPEN STOP SHIPS IN AREA KEEP SHARP LOOKOUT AND REPORT TO KA-
RISKRONA RADIO = 071845 GMT

SAINT JOHNS HARTERM

TRAWLER IZUMRUD AMEND ETA 211600 GMT PLEASE CALL SURVEYOR DIV-
ER TO INSPECT HULL ON ARRIVAL = MASTER

DROGDEN PILOT

M/V VOLZHSK ARRIVING DROGDEN 290700 IN TRANSIT TO NORTH SEA DRAFT
5 POINT 5 REQUIRE PILOT COMMA BRITISH ADMIRALTY CHARTS NOS 32 COMMA
154 OF PORT FALMOUTH = MASTER

TRAWLER SINARSK 0425N 1050E CREWMEMBER SUFFERING SEVERE TOOTH-
ACHE VESSELS CARRYING DENTIST PSE RENDER URGENT ASSISTANCE — MASTER

PSE ADVISE HEALTH MY CREWMEMBER SEMYONOV ADMITTED YOUR HOS-
PITAL 14 DEC WITH ACUTE APPENDICITIS ALSO DISCHARGE DATE AND REPATRIA-
TON ARRANGEMENTS — MASTER

5. Ilepesedume cnedyrowjue paouocpammsl Ha AHSTUUCKUL A3bIK:

BCEM CYJJAM CPOYHO

BMPT AKBAMAPHWH KOOPJIMHATAX 40° CEB IIMPOTHI 58°29' BOCTOYHOM
JIOJITOThI TIOJIVUMJI CWJIBHOE TITOBPEX/JEHME KOPMOBOW YACTH IIOCJIE
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CTOJIKHOBEHUA C HEM3BECTHBIM CYIHOM I'VCTOM TYMAHE TUK BOZIA BBICTPO
I[TPOHUKAET B MAIIMHHOE OTAEJIEHUE ITIPOIIY CYIA IIOBJIM30CTU OKA3ATH
CPOYHVIO ITOMOLIb = KAIIUTAH

BCEM CYJJAM CPOYHO

TAHKEP I'PO/IHO ITO3bIBHBIE UPWX CEJI HA MEJIb B IBYX MWJIAAX CEBEPO-
3AITAJJHEE BV Ne 12 UMEIO KPEH 12° JIEBBIM BOPTOM ITPOLITY CY A ITOBJIM30CTU
CHATH MEHA C MEJIM (OTBYKCHUPOBATD) = KAIIUTAH

I[TPUBLITHUE 3AIAEPKMBAETCS JJO BOCKPECEHBA 110 ITPUUYMHE IITOPMA
[TPOLIY PEYHOTI'O JIOUMAHA HIBAPTOBKY I10 ITPUBBITHU CPOUHVYIO PA3TPY3KYV.

YTOYHAIO IMPEAIIOJIATAEMOE BPEMA ITIPUBLITUA 18 MAPTA 1900 MECTHO-
'O BPEMEHMN.

KoutpoabHnas padora Ne 2
1.Coenatime nucomennwiii nepesod mexcma.
Effects of Atmosphere on Radio Wave Propagation

Radio waves emitted by an aerial are propagated in the surrounding space. Depending on the
directional properties of the aerial, these waves may be propagated along the Earth’s surface or at a
certain angle to it. Consequently, propagation of radio waves is affected both by the properties of
the Earth’s surface and of the atmosphere.

Wave propagation along the surface of the Earth is to a great extent influenced by the ter-
rain, the electric properties of the soil, and the operating wavelength.

If the soil were an ideal conductor, the waves would be reflected from it without any less in
the signal power, similar to the light reflected from an ideal mirror. The soil acts as a screen pre-
venting radio waves from propagating through it.

Actually, the soil is neither an ideal conductor, nor an ideal insulator and radio waves propa-
gated along the surface of the earth are partly reflected and partly absorbed in the soil. The degree
of absorption is a function of the wavelength: the longer the wave, the lower is the energy absorp-
tion.

Let us examine the effects of the atmosphere on wave propagation.

Structure of the Earths atmosphere. The atmosphere surrounding the Earth is a gaseous en-
velope with a thickness of about 1.000 - 2.000 km. The lowest atmospheric layer, the troposphere,
is at 10 to 12 km from the surface of the Earth.

The troposphere is t lie layer where most meteorological processes such us cloud formation,
precipitation, and air currents take place. Tropospherical conditions are characterized by air pres-

sure, temperature, and humidity. The values of these parameters decrease as height increases. How-
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ever, sometimes, the temperature and humidity increase as height increases, and this affects UHF
radio wave propagation. Above the troposphere, to a height of about 60 km, is a layer, called the
stratosphere.

Stretching for thousands of kilometers past the stratosphere is the ionosphere. Here, under
the influence of ultraviolet radiation from the Sun and stars, electron streams from the Sun, and
cosmic rays, the gas in the upper layers of the atmosphere is ionized, thus forming the ionosphere.
At the same time, a recombination takes place, i.e., molecules recombine. At night, the degree of

ionization is weaker due to the absence of the Sun rays.
2. 3aoatime 5 6onpocoe Kk mexcmy.

3. Ilepesedume ouanoe ¢ aHeIULCKO20 A3bIKA HA PYCCKULL S3bIK.

Dialogue.

- All ships in vicinity. This is Vega, Vega, Vega. | am not under command. My position is
Lat. ... Long. ... It is dangerous to remain in my present position. I require a tug and immediate as-
sistance. Over.

- Vega, this is Zenit. | have located you on my radar 270°, distance 5 miles from me. Stand-
ing by on channel zero — six. Over.

- Zenit, this Vega. Question: When will you reach my position? Over.

- Vega, this is Zenit. Answer: I’ll be in your position in an hour. Over.

- Zenit, this is Vega. You message understood: you will be in my position in an hour. Wait-
ing. Over.

- Vega, this is Liverpool port control. Two tugs and Zenit are proceeding in your position.
They will reach you in an hour. Stand by on channel zero — six. Over.

- Liverpool port control, this is Vega. | can see two tugs approaching my position. We are

ready to be taken in tow. Over and out.
4. [lepeseoume Oouanoe ¢ pycckoeo sA3blkd HA AHSIULCKUIL.

- CynHo «3eHnT» XXXA. D10 Beproser. By Bac xoporo.

Bompoc: I'otoBsl 11 npunsaTe MeHA? [Ipuem.

- Beproner, ato «3enut». OtBer: [la, roToB npuHATH Bac. [Ipuem.

- 3eHuT, 910 Beproner. O603HaubTe MecTo npuzemieHus. [Tpuem.

- Beproner, ato 3enut. Mecto npuzemienust Oenblii kBagpat 3x4 merpa. ['pynna npuema B
COCTOSTHUU TOTOBHOCTH. [Ipuem.

- 3eHuT, 910 BeprosieT. S HaunHato npusemienue. CynHo «BocTok» 1 OyKcHp MOAOIIIN K

BaM Ha IIOMOIIb TAKXKC. KOHGH CBA3U.



OOHA OLIEHOYHBIX CPEACTB 18

Lxana oyenusanus pe3yibmamos 6bINOIHEHUs KAHCOOU KOHMPOIbHOU pabomul 0OCHOBAHA
Ha 08YXOALIbHOU cucmeme.

OrneHKa «3aumeHnoy BBICTABISACTCS, €CIIM KypCaHT (CTYIEHT) NMPaBWJIBHO BhIMONHMI 41-
100% 3amaHuii KOHTPOJIBHOW pabOTHI, IEMOHCTPUPYET 3HAHHME M3y4aeMOI'o MaTrepuaja, a JIomy-
[ICHHBIC HE3HAYUTEIIBHBIE JIGKCUKO-TPAMMATHIECKUE OITHOKH, HE 3aTPYAHIIOT KOMMYHUKAIIHIO.

OneHka «He3aumeHo» BHICTABISIETCS, €CIIM KypCaHT (CTYACHT) MPABWJIBHO BBITIOTHWI Me-
Hee 40% 3amaHuii KOHTPOJILHOW PabOThI, HE CMOT MPOJEMOHCTPUPOBATh MOHMMAaHUS H3y4aeMOTro

MmaTepHala, KpaiiHe OorpaHU4YeHHBIN CIIOBAPHBIHN 3amac He 103BOJIIET OTBETUTh HA BOIPOCHI.
3.2 TunoBbIe TeMbI H 32JaHUS HA KYPCOBYI0 PadoTy / KypcoBoOii MpoeKT
JlaHHBIN BU KOHTPOJIS TI0 AUCIHUILINHE HE IPEIYCMOTPEH YUeOHBIM TUTAHOM.

3.3 TunoBble TeMbI M 32]aHUsI HA PacYéTHO-TpaduYecKyI0 padoTy

HaHHHﬁ BUJ KOHTPOJIA 11O AUCHUIITIMHE HE TPCAYCMOTPECH y‘le6HBIM IIJTaHOM.
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4 CBEAEHUA O ®OHJAE OHEHOYHbBIX CPEACTB U EI'O COT'JIACOBAHUUN

@oH/ OLIEHOYHBIX CPEACTB IS aTTECTALUU 10 TUCUUIUTHHE «Ipogeccuonanvhbiii anenuti-
CKUlUl A3bIK» TPENCTaBIsieT cOOOW KOMIIOHEHT OCHOBHOW MpodeccnoHanbHOM 00pa3oBaTenbHON
MPOTrpaMMbl cienuanuTeTa no cnenuaibHocTu 25.05.03 «TexHuueckas dKCITyaTanys TPaHCIOPT-
HOT'O Paauo00opyIoBaHus» (Crieruanu3aus nporpaMmbl «TeXHUYEeCKas SKCIUTyaTaluss 1 PEMOHT
panroo0opyI0BaHUs IPOMBICTIOBOTO (DIIOTAY).

[IpenonaBarenb-pazpadotunk — C.b. JIykoBckas

@oH/T OLIEHOYHBIX CPEJICTB PACCMOTPEH M OJI00PEH 3aBenyromuM Kadeapoil CyIoBbIX pa-

JUOTCEXHHUYCCKHNX CUCTEM

3aBenyromnuii kapeapoit 6 W - E.B. Bonxonckas
——

@DOHJ OLICHOYHBIX CPEJICTB PACCMOTPEH U 0/100peH METOAMYECcKOl koMuccueil Mopckoro

uHCcTUTYTa (TIpoToKos Ne 13 ot 21.08.2024 r.)

[Ipencenarens METOTNYECKONH KOMUCCHH /\\”’”’"’_—_'3 N.B. Bacbkuna
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